Turniej nr 45 dnia 8 marca 2012

Turniej 6 osobowy Wynik meczu Tabela
| runda Pozycja
Jacek - Rysiek 2 1 1 Andrzej B
Andrzej B - Tomek 1 : 2 2 Tomek
Arek - Andrzej D 0 : 2 3 Jacek
4 Andrzej D
Rysiek - Andrzej D 1 : 2 5 Rysiek
Tomek - Arek 2 :0 6 Arek
Jacek - Andrzej B 0 : 2
Andrzej B - Rysiek 2 :0
Arek - Jacek 0 : 2
Andrzej D - Tomek 2 :0
Rysiek - Tomek 2 :0
Jacek - Andrzej D 0 : 2
Andrzej B - Arek 2 :0
Arek - Rysiek 0 : 2
Andrzej D - Andrzej B 0 : 2
Tomek - Jacek 1 : 2
Il runda
Rysiek - Jacek 2 :0
Tomek - Andrzej B 2 1
Andrzej D - Arek 2 :0
Andrzej D - Rysiek 2 1
Arek - Tomek 0 : 2
Andrzej B - Jacek 2 :0
Rysiek - Andrzej B 0 : 2
Jacek - Arek 2 :0
Tomek - Andrzej D 2 :0
Tomek - Rysiek 2 :0
Andrzej D - Jacek 0 : 2
Arek - Andrzej B 0 : 2
Rysiek - Arek 2 :0
Andrzej B - Andrzej D 2 :0
Jacek - Tomek 2 :0
Pétfinaty
Andrzej B - Andrzej D 2 :0
Tomek - Jacek 2 :0
Mecz o miejsce 5
Klasyfikacja koncowa
Rysiek - Arek 2 :0
Mecz o miejsce 3 1 Tomek
2 Andrzej B
Andrzej D - Jacek 2 :0 3 Andrzej D
4 Jacek
Mecz o miejsce 1 5 Rysiek
6 Arek
Andrzej B - Tomek 1 :2
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